WBS RIO1B

A33

SEZ N°.

PROGRESSIVA=-0+729.85
SINGOLO BINARIO NORD

TIPO _H7

ourjouoiy

pioN 0jobuiS “onibuig

oulyouoL|

9U0IZDJIUNWOod oubulg

9salDp HDdsiq oupulg

3$310) 1Dy~ oLibuig

DIDAON D4~ oLIbulg

TIPO _HS

e

D}USBDI DIA BUOIZDIAGQ

AREE — WBS RIO1B
0.00

RILEVATO (mq)
SCAVO (mq)

2.79
1.75
0.00
0.00

(mq)

TERR. VEG. Sp. 30 cm. (m)
12 cm. (m.)

h.
SUPERCOMPATTATO — h 30cm (m) 3.55

SOSTITUZIONE DI TERRENI.

SUBBALLAST —

AZ9

SEZ N°.

PROGRESSIVA=2+923.92

BRETELLA NORD

AS4

SEZ N°.

PROGRESSIVA=-0+629.01

85810\ 1DdsI] ouduUIg

TIPO H10

A30

SEZ N-°.

PROGRESSIVA=3+023.66

4 It . 850
6G'CG ]
95°1
- 8Y°661 -
056G} -
- 59°€S1 H
LSS i
L ¥6°0G1 Fecey
LSt L
" egegy [evey | ve0
s
L 660G 1 -
S
- AWANEN 140
T 1061 r
10°¢
L 00vG1 -
60°1
L L0vS1 Fogze | -
L G0vG1 -
L 660G Lo
L Z0%51 L €90
vl
L 90%S) F¥98T |
oLl
L 90451 -
8T
sz
AR NP S
'l
FQOYSH| ot
Clowst [95CC L
. 660
e \ L 9041 =
001451 6661 Tl
L ZIvsl HSel -
69°1
FLLYSE Lz ¢
154
~legSl
L L0vG1 Fegel b
Sh'e
LGl ¥G) =
LSl A}
L gIvSl FesolL
611
FSIYSL [ on
001L'¥S1 reLe
\ | 567
L804Sl FSr9 |
Lel'g Ge'C
L 66051 F ooy
" G69G1 - 0r0
o'l
L covSl FBoT
8z
GOTHST 2¢°eSL L oeeglL 000 -
\ _ o 81
2 - 8L5S) m -
! I
61°¢S1 Lz e
/_ LVESH | omey L4V |
62251 /09~
] . .
<& 17761 L8/9 -
mB
(@}
X »
=3 o - G611 -
8o
57°Z5! leoLL- | ST
. | 16161 L
5 T 16161 FoEko
o~ L L
967161 RS
vLZSL [T ¢671GL | 8CGL— | .
Lo 00'l
6CCS! | (oo, FEESI- |
62251 18791
06'1G1 /891 we
L 881Gl =
95'6
=
o
O ) L =
E =z Q| ¥
(@) oz
o8 3 B & &
S o % W Q- —
N Y Ll _
N o L % =
LA Ll Ll | H
< x| — — <C
n ) ()
s ) Ll
= @/ O L ~
3 = | Z
I = | &
= %)
N = —
9T
L 8e'gG) -
%S
L 808G =
| 8¢°86G] |
C 0lL'¥Gl C ¢%0
07461
05'e
L 91LYG1 £ Sl
G/ ¢G|
F G8'¢Gl /01 120
““““““““““ L cocc) FCOTC
- s8es! F 6r0
6g'eG1
elel]
L /8¢G) S
| 88°¢G1 ok v8'0
““““““““““ Cegest 9k [
F agcal 60°LL - L0
BCid! [ €90
714Gl
751
- 61751 = 10
07451
clel]
o
R F 000
A
AR Lo
STl P 69°0
F06SL F/87  F 600
L 0651 _
L 06'sG 1 L 850
9.1
L 26681 | ppe
Cieect L8 T ovo
F16°¢SL r .
- leegl e | S50
16961 Co
L 26'6G1 L v50
L 06¢G) =
E06°¢Gl Hmm”m F L0
- 16€S1 E 1o
cLysl [ 88¢st Loy -
66°1
L 0geG) L oo
\\\\\\\\\\\\\\ L £8'¢Sl Lgo— L €0
Cogeg) Foggo
SIS EOLCSH FOPG— £ o
~ B oo
S
S 65°C
i1
* RARCH oo
e
IR I
3 I
9¢'1
L 9¢z51 =
897
L 967161 -
we
L 06161 S
me._m— B L0
[ 1e4G1 [0S0
90°¢G!
81
L /1Z5) =
701
L 0zZs! -
£9'¢
| 2zzs! .
6951 100
A
80'8
=
)
O S Lol =
E =z 9 ¥
o o
c8 B B g E
S S % W o —
N S Lol —
D % I L 7 —
N
Jew e gk
OS5 bl o | = &
o n 9 D o
@ ) Ll
2 = | Z
I = | O
[ w) =
o = o

A3S

SEZ N°.

PROGRESSIVA=—-0+528.81
SINGOLO BINARIO NORD

A3

SEZ N°.

PROGRESSIVA=3+123.22

BRETELLA NORD

60T
\ e} =
| C C
// C Ob'EsL T 6v0
" zLes) -
| 08's61 st
\\\\\\\\\\\\ /186G I 78'¢G1 I
58'¢s) 9t
" 78561 £ro
0T
L pes)
A
L 19gs)
el
L 8g'esl
AR
960
L 1ggs)
F p8'eGL 100
| 60°GGL .
" 60°GG1 vo
6LC
L /6'¢S) 500
e L c0SI
560
L 20951
80°¢
T
““““ 5 L 66CG1
T c9'l
a - YgEGL b0
" Ggesl .
oyl
L p0SL
| $6'EGL .
" ¥6eG1 vLo
68T
“““““““““““ ~er L 0LpSI
0 vG 1 .
R el] 880
m 60
@)
= L v19GL -
aa! L
QO 5seIpp 1Indsiq obuig L 9LYGL 1A
. B
Z .
o FovEr ceLYst £ 120
A
m ““““““““““ 0807SL | 80%Gl .
[T}
O L 60'%51
& . !
=z | 80'%51
< - 80%GL | . 160
S | _rBOFEL L 604G 0
3S8ID)\ 1104~ oLibUIg 0017981 0
\ I
90°¢
SR Ze]
001 %G1 I’ .
DibAon ubdsia ouoma 1" aoTVET roLvsl 88°0
DIDAON DdSIQ oubulg L 0wl
B¢
\\\\\\\\\\\\\\\\\\\\ 00 +e1 F 00'vGl
LOO'+¥S 1L OO—
L 96'¢1
= 19l
& DIDAON LDJ oOlibuig 001%ST ¢Sl - v8esl
8 0 - - bg'eGl 70
2 L 6'¢G1
|, L, .
g 00'G 1\ i - 9p'esl ¥S0
— B .
N 61°¢51 e
\ LISl | 1Tt 020
a " 8lTsl
EEEEE = crs
ST RIS Aﬂ\ .
B .
& . 52
o £ =3
4 o M c So -
I
~— T~ O @)
% £ .12 O o m =
I~ M — &) Lol
W = m — Z o o
| < ©o|lc o Ll Lol x o
_ x| E 299 O | ¥ o W
r| O/N | o O o o —
Lo Hlol o - 9 & N =
L _|Mc= - O = n <
Z< ClaE S w5 R
<o w6l _AHm < ¥ — = — <C
—| O30 o 0 ) o
£l=|0xl=2 = = N
ol EINIWHOo - o e/ Lyl ~N
= D> 1300 < ~N =
<lolEl <@ s = =
> IS || 0w I _A|n g
535181555 = © | &
A= o o
1054
18l
L z76¢61 .
R —— 9669 T 7G'€G1 L0
86°¢
L 79°¢5) L 600
E¥9°¢GlL E .
" coeg) - 0o
561
L y2eGL
L y/eGL :
L 0g'¢GL S0
65T
L 8Lgs)
5G'¢
L 06'¢S1
Y02
| 651 .
686G 100
e
L 6861
ey
| 6961
" 88961
L'l
| 88'96L .
" 06eSl 000
L 98°¢G1 .
e - 29551 £Lo
90%
L 98¢l a0
£
\\\\\\\\\\\\\\\\\\\\M@WL\ H OOO
¥8°5G1
6%l
L 18'eGL
8561
ol
\\\\\\\\\\\\\\\\\\\ 673°C3 ] F¢8'¢egl
6l
L 68'¢51
66°1
L 68'¢I
L 9/¢61 .
L 6/°€G1 650
8s'|
L 8¢l
) 05°1
o L pLes)
L zLes1 .
m - 0L'€S) ¢90
L 99°¢g) 200
< 55!
890
| s
Ll $EEEE) F mmmm# 910
— :
LL) 9seiop Upg oupuig 6YeEsl
o \_ A 08'¢
m
e - 96°¢GL
DIDAON HDdsI oLpbulg 6V6°CS1 £9°1
i L p6CGL
4
L ¢6eG) .
78°¢51 co
DIDAON 1UID4 OLIDUI -
N Hod .,w - 8/°¢G1 660
- L 99°¢)
o
a
= R I
\\\\\\\\\\\\ HNNM@— = wOO
sze
LLLest L 100
L 6veSL .
C 80'¢Sl C S0
=
)
O o Lo =
E =z 8 | ¥
o8 48 ¥ g E
S O % W o —
N o Lol _
-3 o = @ =<
N
IR
S EE O = a
n O O S (e
2 D Lol
3 = | =
I = o
L S -
o 3 =

L
xS < :
: & g
R [e] - Q = | 5
E a A .. o =] S 3
F o = < | N © | &
Fa) 3 .. N 0 =
N = < — 2w 2
w < 3] S
A [¢) 11 O G (2] )
N W . 3
LN — Z
g Z < O >
o — | L L © W
’ 2 L = <« o) s
o W ) m [ m To) g
- S |5
T w < < O 2 S | gls
) Z X o o g | v
g O o o O - < < <
3 = E N < > 2 -
3 » - = - O ) T N
N s ) a 3
~ O A D — 0 R wn O z
m 3 14 @) (@) 14 x a o o
I8 —~ 14 < LU < T | 3
S 0 - - o o | g
N (7p} ! LL o = | &
) (=] o - (@) L (0p] T |2
NE W & = < 3 u s o 8<%
5 ~ o o
F ¢ 2 x 3J o 14 = . 5
W < (@) < ) o | &
Q < < « 2 g c
g H s = 4 5 o a g
V - R A @) z
(o] Z (®))
O O a4 a
8 % S B S — = =1 g,
= > w o 0 g £
& e E O o <« 3 |
O] L L <
-l 4
T ¢ = o S
¢ 2 © 5 o o N
> O Z = (@) O = 9 g <
. = O w Z '» s & 8
. g ) O I o o NS g
L1 o O O = > I~ o[ S| 5 g
= o X w w O = > 0 O S| 3 =
Z N - - I = = h ™ 8 o 3
= - S O T N s} w
= 0] (% — N (L) Z N o c ®© %) — a
= O - Ll L O = w 5 =
9 T L o’ @) = QO W g nVu s | - X% .
< A = K oK W Q T = W g | < g
o o oo 0N O el
Leest 1St
90T
L 21Ts) .
" Z1sl Lo
IS,
9y
L0761 150
. T T oo T L0°TS1
et = 900 99'L
807Gl :
ol 917G -
“““““““““ cize _ 81°CG C 190
- : C8eTsl E
L C 0gvS1 c
- 218 690 = " 45251 "0
st AR
R s0'¢
- 15es) 050 - Zgesl
- G9°eGL c60 Ry 150
I~ gl
8l ARl .
- 1gest . - 09°¢S1 690
- 09°0G1 960 . vl
SLLSSHL ooy - GLesl -
L o/99p | 90T S - 68°¢G1 »
\\\\\\\\\\ c9gcS - 98°¢SL - £9°GY 190 L 98°¢G1| L
- G8'esl
8¢Sl :
LS8 60°0
G8'eGl
““““““““ o L 6LCG1 /0
: - 6LEG1
=iy | 088
68°C
- /8°€GL 150 - 08'¢Sl
" /8°eGL .
. GLESL .
L6) 086Gl reo
e —— - 69'CS1 . - ¥6¢G1 .
[ sges! 89°0 I
L 06'¢G1 FLOVGL 8.0
9Ll
e e - 86551 660
- 06'€SL - 86°¢G1
- 9g°0g .
6S°C 66'C
[ 06¢s) Sl e - 66°€S1 -
““““““““ seeS - 06°€GL L z6
. 80
| 285Gl . L 06°¢G1
el 000 - 06'CG1 0
- 06°¢Gl s0 | T S6 TGl " GBSl
e T - ¥6EGL
6T 8¢
16C
- Z0¥G1 -
FLloYysSLy o o s e e e e e 7051 E_ . £
o ALY =VAN|
R G Rslie]] . 86°¢S!
[r0¥5 = 89°0
yessL o ol [
F .. SVANG ANy £ 8l0
¥6°¢Gl AR !
99'1
16T : .
:omo‘_oH\/.:H.H.\.H.H.I\.I\.I\. ......... F80'vGl | 0l ¥l
F90YSL |- 977l o'z
'l
L 90'%G1 F v0'vGl
. 51
0sc e - Z0¥S1
e Fver - LOYSL €0'C
79'1 AR
. AR .
L LLPSL L e Ll
= 014Gl L €50 el
st © 190 - el 100
5 mw.m" - 610 o'l
FLLEYSLE 00
BT o T e %O o beZ
- L0YSL
L cgy | 6l 85l
AR T soTFET - 0bYsh 000
2061 [ :
- 66°CGL o e
L 0BG F 80'vGl
16°¢G1 ! el
- . - 90¥G1
““““““““ 2076 — - C0PSL €80 b0
95°}
L 76 - L6ES1
76661 | — FG8ESL L /49— F 010
~~giononsd SB[ DOIET - 059- ) 861 ™ [ 26esl 00l
o - 68°C51 - 0 - ¥8°€S1
T © 68°061 £ 010 .. 90
N 98'¢G1
R 4 I V45 ] - L85 S0 <
o 90 619G © 1o
o 81'
M) mm
L0'6 . A___n o - 18661
Z 23
5 m
- 65V Z x O
L - 80!
05
Sl S ORO)
¥ =
. O wn
- 0SYSL cg0
- 69°CGL
. Ll e - TLes)
“““““ en - L9°€GL 07
: - 69°¢G1
4NY
6l
LU S0bat
o )
= = &) L = D) L
— ) o - < o o
o8 & ¥ £ 5 o8 & | & E 5
N o (I — N 0 (I —
S @ | W | B 5 W ¥ | W B g
N N
L L Ll il o L L Ll ) %
25 65 2 & s 5 5 2 &
$ o O w a S ol O w S
> = (@] Lol E 3 = a Lol E
. < S w < S
I = | @ I = | O
wn = wn v
o = = o = =
L LL/S) :
T 99°¢GL 680
. 2Rl 50
69°¢ - 99051
8Ll
L 95°CGL o | g9 .
gaeat - - 89°¢G1 190
- 95°eGL . - 69°2G1 .
L 95'es) €60 | €466l o
68°C
6e°¢
R — F00YSL HZHE .
. YO0eT B : Ge'0
““““““““““ | 6LES) Lg)g B <0 " 20wg) LS |
¢BLES 18'¢SL 0ol 0Ll
T - 88'0GL F2gLe AL
Sl el
. - C6eGl :
- G8'esL . . . L0
060 | - Y0YSL |-
- ¥8'¢Gl YOSl 0¥Sl -£8°6C
oLl 907
- £8'eGL L 186Gl
. T 18eGl 6Ll
C mw.mm_ 120 L 967G
¥8°CG 1 — - lober FLLSE
¥9'1 I 6%°L
YA 4ci el - £6'¢SL -76'6C - - 26661 630
6/°CGlL F¢6'¢S1
Eor Ll
8L°¢SL ol - 16eS1
. . ~
“““““““““““ L Z6°€SL 1897 T L g6
616CG] . 96'¢G1
\\\\\\\\\\\\\\\\\\\\\ Eaeal 7R r6¢'9¢ : o '
16631 i Mmmw svo | o 3 Cgsest Lezor - B0
- =
8z’ .
. : c0'¢
- 8LeSL BIGI B3R 058!
A .
- 66°€G1
e | 880
““““““““““ =855 Leguz F 00 . - 00451 [9g°9L
6L'L
vee 380107 1I6dsI] oLDUIg Koo:m_ & m“wm“ rosvl 61°0
PIoK BIiS5I oot plewst) 050
N e A = mmmm# 68/ E 3UOIZDAUNWIOD oLibUIG 00T ST | levsL el .
256°cs - SeeSl 970 TSl ¥e'0
. - 86¢G1 60
( ; [ S6Es) oo | - OLYSL b0l
3saip)\ 1ipdsiq oupbuig 12051 | Ge'eGlL 867! 671 $0'7
f i - 66CSL . Lz .
" 00YS! 6c0 55310}, 1ibd ~oLibuig ebrst roog -
9T | _0LvSL e
\\\\\\\\\\\\\\\\\\\ O | [ 01l %G1 [ .
- 98esl / - 6051 o
. L SOVSL | o
N|/ oee pJpAoN Lpdsig oupulg 001%S1i [ os'gst 00y 650
9saJD)\ lDd oupulg . L cgr L
“““““““““ cotsl e I — - 96551 970
767¢GT T /686G r F 66°¢GL
@ 9Ll
. ) 0°¢SH FZV¥S) A0
65°¢ e DJDAON UDJ oupulg leest - £8'¢G1 000 6.0
DIDAON lDdSI] oupulg 120951 ) | a 0 o I 8C'¢S1
e, L6951 00y = T 3 - 062G 150
96°¢G1 [ 35 ol o o " SvTsl
- 9861 - = I -
e L i shm [ oy
L e [ 650 . /LY
- 6eSL Logg ¥8°¢S] RIASS
PIDAON lbd oubuig | 0o+ ¢L0 2 ] ¥8°7G1 L60'9— Loy
0 [ 89Sl c — g 69°¢S! 161°9-
T Eo E N m o
ol 4 - £0GL C 980 3 . 4R
& 08'¢S1 A M Q3 5 - 9£°CS 1 .
a we N 5 o« el 5L
000 | 2925t FST Y- mﬂ_
GLTGL [ €S°ZSL FO6Y— [ ogo . . 08261 FP0L- | 96T
<& c/76L [ 1SSl Logo— ° 7_‘_u m pjuabop DIA BUOIZDIASQ 98¥°¢Gl
o0 .
E . - 87751
< 8T Z e
33 61261 L9/~ AVn m 9
25 09°CSL | gpme) | VL= =
S I 2 ot 971
X Z 5 M 0R e B34
~N . L N —_
_|_|_ W ﬂ ¥8'C51 69°Gl
. . — 20761 2691 -
DJusbD DIA BUOIZDIASQ 129281 L£°¢GL FLLLL . S O
8¢'8 X @
. o m 9yl
o~
09°Z61 96°G1—
GL¢GL L F909l-
oeTsL|
SLTGL | gaze) 1969L= | cO') NI =E=1}
9ecsh PO L Ll OlNN OO =
’ Q|«—|— |00 <
R vEo m
1l — —~
LSSl © E
i 560 o o ¥G'1G1
= £ ElE o
@) wn |~ O o
O ) m = m gl o O o m =
El =z 8| ¥ = =~ g” F =z 8 ¥
o LWl Ll had o | | 0o|< o Ll L xr o
o ol O o o ] x| & o ol O o a Lol
L2 O | x - | T Rd R RE o x ~
R R T I, Lol ~lol "o R =
< | Ll = N % o .||« < L = N
3 x| 2 7 o _wd g EARS 2 7
c o 9 EoZz |=la 2 o | 9 o-
n O (am] lon . n 9 =)
N ) =2 L ~elQlo|Q= = D - L
S O @] L N olEIN|W S0 = O @] Ll ~
< N = = D> 130 < ~N =
O = = <lolEl g |x o = =
I = % Z >l @ I = 5
I (%2} Wz ln m| o L =
o 2 = 2150855 = %) o
o XlnneFEonon o




